Pivot Slide Tube with Footplate Assembly - J932A-14



Pivot Slide Tube with Footplate Assembly - J932A-14

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 AB,C 1102491 Pivot/Slide Tube w/ Footplate Assembly, Black - 1 1
Right (12" Footplate)
1 AB,C 1102492 Pivot/Slide Tube w/ Footplate Assembly, Black - Left 1 1
(12" Footplate)
1 B,D 1102489-NLA | NLA - Pivot/Slide Tube w/ Footplate Assembly, 1 1
Chrome - Right (12" Footplate)
1 B,D 1102490-NLA | NLA - Pivot/Slide Tube w/ Footplate Assembly, 1 1
Chrome - Left (12" Footplate)
2 1029545 Screw, Socket Flat Head (1/4-20 x 3/4") 1 2
3 1100988 Footplate, Black (3-1/4" W x 6" L) (10" W) 1 1
3 1100989 Footplate, Black (4-1/4" W x 6-1/2" L) (12" W) 1 1
4 1101020 Block, Hinge 1 1
5 1010398 Washer, Nylon (1/4 x 1/2 x 1/16") 1 1
6 1000212 Screw, Shoulder Hex Socket (1/4 x 1-1/4", #10-24) 1 1
7 1025736 Locknut (1/4-20) 1 2
8 1027097 Plug Button, Black (3/4") 1 2
9 40157X016-NLA | NLA - Washer (1/4 x 1/2 x 1/16") 1 2
10 16347X000-NLA | NLA - Washer, Nylon (3/16 x 7/16 x 1/8") 1 1
11 1026035-NLA | NLA - Locknut (#10-24) 1 1
12 D 1102483-NLA | NLA - Tube, Slide, Chrome 1 1
12 A 1102484 Tube, Slide, Black 1 1
NOTE: - Specify frame color when ordering. See category titled, "Upholstery Colors, Frame Finishes and Packaging."

- Includes items 2-12.

- Black
- Chrome




